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Four alternatives are given for each of the following questions / incomplete
statements. Choose the correct alternative and write the complete answer along

10x1=10

(A) increase the boiling point of sugarcane juice

(B) decolourise the sugar

(C) decrease the boiling point of sugarcane juice

(D) increase the size of the sugar crystals.

The function of parathormone is to regulate

(A)

(B)

©)

(D) growth and development of the body.

A ship sends ultrasonic sound. This sound returns from the seabed and
is detected after 6s. If the speed of ultrasonic sound through seawater is

1-5 kms ™1, the depth of the sea is

(A) 5km (B) 55 km

(C) 35km '" (D) 45 km.
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4, Sodium chloride in its aqueous solution is a strong electrolyte, because it
% (A) dissociates completely
% (B) is a covalent compound
§ (C) does not dissociate

(D) dissociates incompletely.
S. A device used to convert alternating current into direct current is

O]

(A) transistor

(B) diode

(C) dynamo

(D) motor.
0. With reference to the working of a rocket, in the equation RV ox — Ma, R stands

for

(A) resistance

(B)

(€)

(D) mass.
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7. The technology of developing genetically similar molecules, cells, tissues or
organisms from a common precursor in laboratory condition is
— (A) cloning
= (B) DNA fingerprint technology
—_— s
== (C) genetic engineering
(D) Recombinant DNA technology.
8. Biofuel is ecofriendly because, it
(A) increases the temperature of the atmosphere
(B) produces less amount of carbon dioxide when burnt
©)
(D) is a conventional source of energy.
9.

(A) CH,
B) C,Hg
(C) C,H,

(D)

| RR(B)-436 | XXX
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(A)

(B)

(€)

(D)

—_

0. If phloem of a plant is removed, then the most affected process is

food conduction

water conduction

removal of wastes

mineral conduction.

5 83-E

1. Match the names of organic compounds given in Column-A with their molecular

formula given in Column-B and write the answer along with its letters : 4 x 1 =4

(A)

(B)

©)

(D)

Answer the following questions :

12. What is a solar cell ?

Column-A

Propane

Butene

Cyclohexane

Propyne

[OF
I

Column-B

i) CyuHg g

(i) C4Hpq
(iii) CgHg
(ivy CyHg
(v)

(vi) CLH

7Tx1=7
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13. What is catenation ?

14. Ligaments help in the movement of bones. Why ?

15. Draw the symbolic representation of a transformer.

16. What is nuclear fission reaction ?

17. Name the greenhouse gases in the atmosphere.

18. Mention the important features of a star which is in white dwarf stage.

Answer the following questions : 16 x 2 = 32

o]
19. List the characteristic features that we share with other primates. &
o]

20. A bus which is in clutch gear produces waves of frequency 33 Hz. If the velocity

&

0]
of waves is 330 ms ™! , then find the wavelength of the waves.

21. Explain the method of extraction of crystalline silicon. Write the balanced
EFEEELE

chemical equation of the reaction taking place in this process.
OR

Write balanced chemical equations for the following chemical reactions :
[OES o

a) Reaction of amorphous silicon with steam

b) Reaction of amorphous silicon with oxygen.
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5.

26.

27.

The production of genetically modified plants is widely used than the production

a) Control rods

b) Moderator.

Draw the diagram of the apparatus showing electrolysis and label anode.

EREE
Mention any four adaptations which enable the birds to fly. !

OR

What is metamorphosis ? Give two examples of vertebrates that exhibit

metamorphosis in their life cycle.

Draw the circuit symbol of an n-p-n transistor. Label the heavily doped part.

What is fermentation ? Write the three steps involved in the fermentation of

molasses.

OR

What are the two main sources of sucrose ? Name the two monosaccharides in

sucrose molecule.
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32.

33.

34.

Write any two differences between striped muscles and unstriped muscles.

OR

Mention the features of meristematic tissues.

41 of a gas is enclosed in a vessel at 4 x 10° Pa pressure. It is allowed to expand

to 8! under constant temperature. Find the final pressure of the gas in the

alumina and label molten aluminium.

An astronomer observes two sources of light ‘A’ and ‘B’ continuously. He

identifies that ‘A’ shows red shift and ‘B’ shows blue shift. What is the reason for
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Answer the following questions :

35.
=
=,
c)
36. a)
b)

37. Draw the diagram showing the structure of HIV. Label the following parts :

b)

the following factors :

9 83-E

5x3=15

Mention the differences between Mango and Sugarcane plants with reference to

Leaf

Seed germination

Structure of root.

If an AC source of 250 volts has to be stepped down to 10 volts, then what

transformer depend.

OR

Explain Faraday’s experiment of electromagnetic induction.

Reverse transcriptase

Fatty layer.
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9.

40.

Observe the following table :

CCE RR

Element A B C

Atomic Number 12 2 16

20

Identify the element,

a) which is a noble gas
b) having highest atomic size
) having highest ionisation energy .

Give suitable reason for your answer.

Round seeds producing dominant pea plant is hybridised with wrinkled seeds

producing recessive pea plant. Draw the checker board showing the results

OR

a)

b)

| RR(B)-436 | XXX




CCE RR 11 83-E

Explain the expansion stroke and the exhaust stroke in the working of a petrol

engine.

41. a) List any four physical properties of metals.
b) What are alloys ? Mention two uses of stainless steel.
42. Draw the diagram showing the internal structure of human ear. Label the

o

following parts : &

i) Ear drum

ii) Auditory nerves.
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